Chemistry Review v 2
1. A solution has a pH of 6.9. What colour would the following indicators be if placed in the solution?
Orange IV 

____________ 

Indigo carmine
____________

Thymol blue

____________

Phenol red

____________

2. Which equation or equations represents the reaction of an acid with water?
        [image: image1.emf]
A. I and II

B. I only

C. III only
D. III and IV
3. An acidic solution has a pH of 4.23. The hydronium ion concentration is _____ mol/L.

4. A solution is tested to have [H3O+] = 6.15 x 10-12 mol/L. The pH of the solution is 
5. If 50.0 mL of 3.00 mol/L nitric acid was needed to neutralize 143.9 mL of KOH(aq), the concentration of the base is ________ mol/L. 

6. Four samples of rain are collected from different geographic regions and the pH is measured for each sample.
[image: image2.emf]
[image: image3.emf]
7. Acid deposition may change the pH of a lake. In addition, as acidified water passes through soil and into the lake, it may also
[image: image4.emf]
[image: image5.emf]
8. Match each pollutant, as numbered above, with its effect, as listed below. Use each number only once.
[image: image6.emf] [image: image7.emf]
9. Some pollutants accumulate in the Arctic. Match each of the pollutants numbered above with the appropriate source given below. Use each number only once.
[image: image8.emf]
10. The two main contributors to the formation of acid rain are
[image: image9.emf]
11. A student performs a titration of 0.500 mol/L HCl(aq) into 10.00 mL of NaOH(aq) of unknown concentration. The following data are recorded. Determine the concentration of the base.
	
	Trial 1
	Trial 2
	Trial 3
	Trial 4

	Initial volume of HCl
	0.00
	15.50
	26.75
	1.25

	Final volume of HCl
	15.50
	26.75
	37.95
	12.45

	volume of HCl used
	
	
	
	


12. Draw the structure of methyl butanoate.

13. Many artificial flavourings are prepared using the type of organic reaction shown below.
[image: image10.emf]
Name of reactant 1
______________________________________

Name of reactant 2
______________________________________

Name of products
______________________________________

14. Which organic compound is unsaturated?

A. 2-methylbutane 
B. Hexan-3-ol

C. 2-chloropropane 
D. Pent-2-ene
Answers
1. yellow   blue   yellow   yellow
2. D: acids donate protons, bases accept protons. Water is the base, H3O+ is the conjugate acid

3. 5.9 x 10-5 mol/L

4. 11.21

5. 1.04 mol/L

6. B, all the samples are acidic, samples 3 & 4 are slightly acidic due to dissolved CO2 from air. Acid rain is rain that is more acid than normal, due to dissolved pollutants.

7. D

8. 3 2 4 1
9. 2 4 3 1

10. D

11. Find the average volume used in each trial. Find the average volume of HCl in the consistent trials = 11.23 mL 

C1V1 = C2V2 
one side is the solution with the known volume & concentration and the other side is the solution of unknown concentration.

Multiply the known solution C & V together, divide by the volume of the unknown solution.
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12.  reactant 1 ethanoic acid
reactant 2 propan-1-ol

products propyl ethanoate, water

13. D, the only compound with a double or triple bond between carbon atoms
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